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logଷ(𝑥 − 11) − logଷ(𝑥 − 3) = 2

                               logଷ

𝑥 − 11

𝑥 − 3
⎯⎯⎯⎯⎯⎯= 2

                                        
𝑥 − 11

𝑥 − 3
⎯⎯⎯⎯⎯⎯= 3ଶ

                                         
𝑥 − 11

𝑥 − 3
⎯⎯⎯⎯⎯⎯= 9

                                         𝑥 − 11 = 9(𝑥 − 3)
                                         𝑥 − 11 = 9𝑥 − 27
                                                 16 = 8𝑥

                                              𝑥 = 2

(𝑙𝑜𝑔𝑥)ଶ − 𝑙𝑜𝑔𝑥ଷ = 4
(𝑙𝑜𝑔𝑥)ଶ − 3𝑙𝑜𝑔𝑥 = 4
       𝑚ଶ − 3𝑚 − 4 = 0
  (𝑚 − 4)(𝑚 + 1) = 0

𝑙𝑒𝑡  𝑚 = 𝑙𝑜𝑔𝑥

     𝑚 = 4
𝑙𝑜𝑔𝑥 = 4

       𝑥 = 10ସ

     𝑚 = −1
𝑙𝑜𝑔𝑥 = −1

      𝑥 = 10ିଵ

logହ(𝑥 + 1) = logହ 7
logହ(𝑥 + 1) = logହ 7
            𝑥 + 1 = 7
                    𝑥 = 6

Delog both sides

logଶ(𝑥 − 2) + logଶ(𝑥 + 1) = 2
              logଶ(𝑥 − 2)(𝑥 + 1) = 2
                  logଶ(𝑥ଶ − 𝑥 − 2) = 2
                                𝑥ଶ−𝑥 − 2 = 2ଶ

                                𝑥ଶ−𝑥 − 2 = 4
                                𝑥ଶ−𝑥 − 6 = 0
                      (𝑥 − 3)(𝑥 + 2) = 0

logଶ(𝑥 − 2) + logଶ(𝑥 + 1) = 2
                  logଶ(𝑥ଶ − 𝑥 − 2) = logଶ 4
                                𝑥ଶ−𝑥 − 2 = 4
                                𝑥ଶ−𝑥 − 6 = 0

𝑥 = 3 𝑥 = −2

Or Turn a number 
into a log!

                    logଶ(𝑥 − 2) − 2 = −logଶ(𝑥 + 1)
logଶ(𝑥 − 2) + logଶ(𝑥 + 1) = 2 Algebra

See Above

See Left

2 logହ 𝑥 + logହ 𝑥 = 3
logହ 𝑥ଶ + logହ 𝑥 = 3
         logହ 𝑥ଶ × 𝑥 = 3
                 logହ 𝑥ଷ = 3
                          𝑥ଷ = 5ଷ

                             𝑥 = 5

Must Bring exponents up 1st!

  2 = logଶ 𝑚
2ଶ = 𝑚
𝑚 = 4

  2 = logଶ 4

𝑥 − 2 > 0
         𝑥 > 2

𝑥 − 1 > 0
        𝑥 > −1

Reject
Redundant!

𝑥 > 0

𝑥 > 3
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